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oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000
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0000010210200 20 2003,5,7,11,13,17000000 10000000
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2P + 1 =2(510510n + 198391) + 1 = 1021020n + 396782 + 1 = 1021020n + 396783

0000010210200 20 2003,5,7,11,13,17000000 10000000

396783 = 3 x 3 x 44087 x 1

oooo
2P + 1 = 3(340340n + 132261)

gooooooo3soooooooooboooooOobooboobDoobbOODoOoDbboUODboO
goo

Q=1983970000
P = 510510n + 198397

2P + 1 =2(510510n + 198397) + 1 = 10210201 + 396794 + 1 = 10210201 + 396795

0000010210200 20 2003,5,7,11,13,17000000 10000000
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